LakeCounty Division of Transportation	on					
Secti Descripti CPMS F	ect: 21st Street Resurfacing ion: 19-00999-68-RS ion: Resurfacing Pin: B-01548A ate: 5/11/2021	Summary of Bids Rece	ived			
Bidder Peter Baker & Son Company Payne & Dolan, Inc.	Address 1349 Rockland Road 28435 W. Route 173	City, State, Zip Lake Bluff, IL 60044 Antioch, IL 60002	Bond Bid Bond Bid Bond			-\$250,093.47
Engineer's Estimate				\$1,519,281.44		
Design Finance Construction	IDOT(2) Bid Tab File Project File	Contract Bidder Resident Eng. Request By Mail		County Engineer Mgr Capital Prograr	mming	



Item	Day Cada	Description	Quantity	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker & \$	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	198.0	CU YD	\$75.00	\$14,850.00	\$45.00	\$8,910.00	\$63.75	\$12,622.50
2		EXCAVATING AND GRADING EXISTING SHOULDER	78.0	UNIT	\$150.00	\$11,700.00	\$440.00	\$34,320.00	\$274.00	\$21,372.00
3	20800150	TRENCH BACKFILL	19.0	CU YD	\$40.00	\$760.00	\$60.00	\$1,140.00	\$76.11	\$1,446.09
4		GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	434.0	SQ YD	\$3.00	\$1,302.00	\$1.00	\$434.00	\$0.75	\$325.50
5		GRADING AND SHAPING DITCHES	40.0	FOOT	\$25.00	\$1,000.00	\$60.00	\$2,400.00	\$83.00	\$3,320.00
6	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	290.0	SQ YD	\$30.00	\$8,700.00	\$31.50	\$9,135.00	\$23.20	\$6,728.00
7	35101400	AGGREGATE BASE COURSE, TYPE B	162.0	TON	\$30.00	\$4,860.00	\$22.00	\$3,564.00	\$22.00	\$3,564.00
8	40600275	BITUMINOUS MATERIALS (PRIME COAT)	1,076.0	POUND	\$0.01	\$10.76	\$0.01	\$10.76	\$0.01	\$10.76
9	40600290	BITUMINOUS MATERIALS (TACK COAT)	27,078.0	POUND	\$0.01	\$270.78	\$0.01	\$270.78	\$0.01	\$270.78
10	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	5.0	TON	\$1,000.00	\$5,000.00	\$400.00	\$2,000.00	\$790.00	\$3,950.00
11		HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	2,520.0	SQ YD	\$10.00	\$25,200.00	\$5.00	\$12,600.00	\$8.00	\$20,160.00
12	40600990	TEMPORARY RAMP	517.0	SQ YD	\$25.00	\$12,925.00	\$22.50	\$11,632.50	\$5.00	\$2,585.00
13	710603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	1,015.0	TON	\$75.00	\$76,125.00	\$70.00	\$71,050.00	\$68.25	\$69,273.75
14		POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	1,701.0	TON	\$100.00	\$170,100.00	\$96.50	\$164,146.50	\$91.90	\$156,321.90
15		HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	4,134.0	TON	\$75.00	\$310,050.00	\$73.00	\$301,782.00	\$74.60	\$308,396.40
16	42001300	PROTECTIVE COAT	780.0	SQ YD	\$1.00	\$780.00	\$2.50	\$1,950.00	\$2.50	\$1,950.00
17		PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	4,929.0	SQ FT	\$10.00	\$49,290.00	\$8.50	\$41,896.50	\$8.50	\$41,896.50
18	42400800	DETECTABLE WARNINGS	604.0	SQ FT	\$40.00	\$24,160.00	\$65.00	\$39,260.00	\$65.00	\$39,260.00



Item	Day Cada	Decembries	Quantitu	Unit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
19		HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	13,910.0	SQ YD	\$2.50	\$34,775.00	\$1.75	\$24,342.50	\$1.85	\$25,733.50
20		HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	21,050.0	SQ YD	\$3.00	\$63,150.00	\$2.15	\$45,257.50	\$2.80	\$58,940.00
21		COMBINATION CURB AND GUTTER REMOVAL	696.0	FOOT	\$11.00	\$7,656.00	\$5.00	\$3,480.00	\$5.00	\$3,480.00
22	44000600	SIDEWALK REMOVAL	4,096.0	SQ FT	\$3.00	\$12,288.00	\$1.50	\$6,144.00	\$1.50	\$6,144.00
23	44201681	CLASS D PATCHES, TYPE I, 3 INCH	73.0	SQ YD	\$40.00	\$2,920.00	\$66.00	\$4,818.00	\$20.00	\$1,460.00
24	44201682	CLASS D PATCHES, TYPE II, 3 INCH	109.0	SQ YD	\$40.00	\$4,360.00	\$42.00	\$4,578.00	\$20.00	\$2,180.00
25	44201683	CLASS D PATCHES, TYPE III, 3 INCH	327.0	SQ YD	\$40.00	\$13,080.00	\$29.00	\$9,483.00	\$20.00	\$6,540.00
26	44201684	CLASS D PATCHES, TYPE IV, 3 INCH	218.0	SQ YD	\$40.00	\$8,720.00	\$23.00	\$5,014.00	\$20.00	\$4,360.00
27	44201737	CLASS D PATCHES, TYPE I, 8 INCH	102.0	SQ YD	\$60.00	\$6,120.00	\$88.00	\$8,976.00	\$35.00	\$3,570.00
28	44201741	CLASS D PATCHES, TYPE II, 8 INCH	153.0	SQ YD	\$60.00	\$9,180.00	\$64.00	\$9,792.00	\$35.00	\$5,355.00
29	44201745	CLASS D PATCHES, TYPE III, 8 INCH	532.0	SQ YD	\$60.00	\$31,920.00	\$53.00	\$28,196.00	\$35.00	\$18,620.00
30	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	306.0	SQ YD	\$60.00	\$18,360.00	\$47.00	\$14,382.00	\$35.00	\$10,710.00
31	48101200	AGGREGATE SHOULDERS, TYPE B	321.0	TON	\$40.00	\$12,840.00	\$48.00	\$15,408.00	\$51.35	\$16,483.35
32	50105220 I	PIPE CULVERT REMOVAL	247.0	FOOT	\$20.00	\$4,940.00	\$16.00	\$3,952.00	\$15.73	\$3,885.31
33	54213663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	3.0	EACH	\$1,500.00	\$4,500.00	\$1,700.00	\$5,100.00	\$2,787.25	\$8,361.75
34	54262712 I	METAL FLARED END SECTIONS 12"	2.0	EACH	\$500.00	\$1,000.00	\$535.00	\$1,070.00	\$230.00	\$460.00
35	54262715 I	METAL FLARED END SECTIONS 15"	14.0	EACH	\$500.00	\$7,000.00	\$535.00	\$7,490.00	\$230.00	\$3,220.00
36	542D0217 I	PIPE CULVERTS, CLASS D, TYPE 1 12"	28.0	FOOT	\$60.00	\$1,680.00	\$47.00	\$1,316.00	\$108.40	\$3,035.20
37	542D0220 I	PIPE CULVERTS, CLASS D, TYPE 1 15"	219.0	FOOT	\$65.00	\$14,235.00	\$48.00	\$10,512.00	\$125.70	\$27,528.30
38	60100905 I	PIPE DRAINS 4"	200.0	FOOT	\$30.00	\$6,000.00	\$6.00	\$1,200.00	\$10.00	\$2,000.00



Item	Day Carla	Decembries	Overstitus	l lmi4	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker & Son Company		
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	
39	60100915	PIPE DRAINS 6"	200.0	FOOT	\$40.00	\$8,000.00	\$9.00	\$1,800.00	\$12.00	\$2,400.00	
40	60300105	FRAMES AND GRATES TO BE ADJUSTED	9.0	EACH	\$500.00	\$4,500.00	\$675.00	\$6,075.00	\$455.00	\$4,095.00	
41	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	696.0	FOOT	\$45.00	\$31,320.00	\$60.00	\$41,760.00	\$60.00	\$41,760.00	
42	66900200	NON-SPECIAL WASTE DISPOSAL	22.0	CU YD	\$125.00	\$2,750.00	\$65.00	\$1,430.00	\$91.00	\$2,002.00	
43	66900210	HAZARDOUS WASTE DISPOSAL	6.0	CU YD	\$500.00	\$3,000.00	\$250.00	\$1,500.00	\$1,245.00	\$7,470.00	
44	66900530	SOIL DISPOSAL ANALYSIS	6.0	EACH	\$1,500.00	\$9,000.00	\$1,500.00	\$9,000.00	\$1,290.00	\$7,740.00	
45	66901001	REGULATED SUBSTANCES PRE- CONSTRUCTION PLAN	1.0	L SUM	\$2,500.00	\$2,500.00	\$3,500.00	\$3,500.00	\$2,500.00	\$2,500.00	
46	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$2,000.00	\$2,000.00	\$3,500.00	\$3,500.00	\$2,200.00	\$2,200.00	
47	66901006	REGULATED SUBSTANCES MONITORING	3.0	CAL DA	\$800.00	\$2,400.00	\$1,000.00	\$3,000.00	\$100.00	\$300.00	
48	67100100	MOBILIZATION	1.0	L SUM	\$50,000.00	\$50,000.00	\$110,000.00	\$110,000.00	\$29,377.00	\$29,377.00	
49	70300100	SHORT-TERM PAVEMENT MARKING	10,405.0	FOOT	\$0.25	\$2,601.25	\$0.01	\$104.05	\$0.01	\$104.05	
50	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	283.0	SQ FT	\$0.10	\$28.30	\$0.01	\$2.83	\$0.01	\$2.83	
51		TEMPORARY PAVEMENT MARKING - LINE 4"	19,948.0	FOOT	\$0.05	\$997.40	\$0.01	\$199.48	\$0.01	\$199.48	
52	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	692.0	FOOT	\$0.15	\$103.80	\$0.01	\$6.92	\$0.01	\$6.92	
53	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	4,482.0	FOOT	\$0.20	\$896.40	\$0.01	\$44.82	\$0.01	\$44.82	
54	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	186.0	FOOT	\$0.25	\$46.50	\$0.01	\$1.86	\$0.01	\$1.86	
55	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	5,202.0	FOOT	\$1.00	\$5,202.00	\$0.01	\$52.02	\$0.01	\$52.02	



Item	Day Cada	December -	Over matitus	I Imit	Eng Es	timate	Payne & D	olan, Inc.	Peter Baker & S	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
56		THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	551.0	SQ FT	\$4.00	\$2,204.00	\$4.00	\$2,204.00	\$4.00	\$2,204.00
57	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	22,023.0	FOOT	\$0.50	\$11,011.50	\$0.55	\$12,112.65	\$0.55	\$12,112.65
58		THERMOPLASTIC PAVEMENT MARKING - LINE 5"	16,270.0	FOOT	\$0.75	\$12,202.50	\$0.65	\$10,575.50	\$0.65	\$10,575.50
59		THERMOPLASTIC PAVEMENT MARKING - LINE 6"	948.0	FOOT	\$1.25	\$1,185.00	\$0.75	\$711.00	\$0.75	\$711.00
60		THERMOPLASTIC PAVEMENT MARKING - LINE 8"	4,951.0	FOOT	\$1.25	\$6,188.75	\$1.00	\$4,951.00	\$1.00	\$4,951.00
61		THERMOPLASTIC PAVEMENT MARKING - LINE 12"	2,791.0	FOOT	\$2.50	\$6,977.50	\$1.50	\$4,186.50	\$1.50	\$4,186.50
62		THERMOPLASTIC PAVEMENT MARKING - LINE 24"	302.0	FOOT	\$5.00	\$1,510.00	\$4.00	\$1,208.00	\$4.00	\$1,208.00
63	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	480.0	FOOT	\$3.00	\$1,440.00	\$3.00	\$1,440.00	\$3.00	\$1,440.00
64		PAVEMENT MARKING REMOVAL – WATER BLASTING	582.0	SQ FT	\$6.00	\$3,492.00	\$4.50	\$2,619.00	\$4.50	\$2,619.00
65	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$375.00	\$1,875.00	\$10.00	\$50.00	\$200.00	\$1,000.00
66		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	16,396.0	UNIT	\$1.00	\$16,396.00	\$1.00	\$16,396.00	\$1.00	\$16,396.00
67		BUTT JOINT FOR ENTRANCE RESURFACING	860.0	FOOT	\$5.00	\$4,300.00	\$8.00	\$6,880.00	\$16.00	\$13,760.00
68	LC400202	SEAL COAT	396.0	SQ YD	\$12.00	\$4,752.00	\$10.00	\$3,960.00	\$6.00	\$2,376.00
69	LC800850	REMOVE TRAFFIC COUNTER	1.0	EACH	\$500.00	\$500.00	\$4,950.00	\$4,950.00	\$4,950.00	\$4,950.00
70	X0327036	BIKE PATH REMOVAL	190.0	SQ YD	\$20.00	\$3,800.00	\$15.00	\$2,850.00	\$15.00	\$2,850.00
71		DRIVEWAY REMOVAL AND REPLACEMENT	663.0	SQ YD	\$45.00	\$29,835.00	\$37.00	\$24,531.00	\$50.25	\$33,315.75



Item		5			Eng Es	timate	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
72	X0358300	REMOVE AND RELAY END SECTIONS	1.0	EACH	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$2,270.00	\$2,270.00
73	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	98.0	SQ YD	\$5.00	\$490.00	\$8.84	\$866.32	\$3.00	\$294.00
74	X5010523	REMOVE CONCRETE END SECTION	3.0	EACH	\$300.00	\$900.00	\$900.00	\$2,700.00	\$431.67	\$1,295.01
75	X5420615	PIPE CULVERTS TO BE CLEANED 15"	606.0	FOOT	\$15.00	\$9,090.00	\$8.00	\$4,848.00	\$6.00	\$3,636.00
76	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	4.0	EACH	\$675.00	\$2,700.00	\$1,600.00	\$6,400.00	\$1,350.00	\$5,400.00
77	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.0	CAL MO	\$4,000.00	\$20,000.00	\$2,000.00	\$10,000.00	\$1,000.00	\$5,000.00
78	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$50,000.00	\$50,000.00	\$13,500.00	\$13,500.00	\$21,736.00	\$21,736.00
79	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	594.0	SQ FT	\$3.50	\$2,079.00	\$2.00	\$1,188.00	\$2.00	\$1,188.00
80	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	21,509.0	FOOT	\$0.50	\$10,754.50	\$0.30	\$6,452.70	\$0.30	\$6,452.70
81	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	15,985.0	FOOT	\$0.50	\$7,992.50	\$0.45	\$7,193.25	\$0.45	\$7,193.25
82	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	813.0	FOOT	\$1.00	\$813.00	\$0.60	\$487.80	\$0.60	\$487.80
83	X7830076	GROOVING FOR RECESSED PAVEMENT MARKING 9"	4,951.0	FOOT	\$1.50	\$7,426.50	\$0.65	\$3,218.15	\$0.65	\$3,218.15
84	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	2,050.0	FOOT	\$1.75	\$3,587.50	\$1.00	\$2,050.00	\$1.00	\$2,050.00
85	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	164.0	FOOT	\$2.50	\$410.00	\$2.00	\$328.00	\$2.00	\$328.00
86	XX000856	MAILBOX REMOVAL AND RELOCATION	44.0	EACH	\$225.00	\$9,900.00	\$100.00	\$4,400.00	\$100.00	\$4,400.00
87	XX006343	SEEDING (COMPLETE)	4,099.0	SQ YD	\$20.00	\$81,980.00	\$5.75	\$23,569.25	\$5.75	\$23,569.25



Item	Pay Code	Description	Quantity	Unit	Eng Es	imate	Payne & Dolan, Inc.		Peter Baker & Son Company	
No.	Pay Code	Description	Quantity	Ullit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
88	X X (1)(1)X 1 '3(1)	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	5.0	EACH	\$500.00	\$2,500.00	\$650.00	\$3,250.00	\$545.00	\$2,725.00
89	xxmmunnn	PAVEMENT MARKING REMOVAL (SPECIAL)	1,734.0	SQ YD	\$1.50	\$2,601.00	\$2.70	\$4,681.80	\$0.01	\$17.34
90	XX206400	MAILBOX POST	44.0	EACH	\$225.00	\$9,900.00	\$100.00	\$4,400.00	\$50.00	\$2,200.00
91	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$30,000.00	\$30,000.00	\$9,995.00	\$9,995.00	\$9,995.00	\$9,995.00
92	Z0033700	LONGITUDINAL JOINT SEALANT	20,134.0	FOOT	\$2.50	\$50,335.00	\$2.07	\$41,677.38	\$2.25	\$45,301.50
	Bid Total					\$1,519,281.44		\$1,350,720.32		\$1,269,187.97



Project: 21st Street Resurfacing

Section: 19-00999-68-RS

Description: Resurfacing

CPMS Pin: B-01548A

Let Date: 5/11/2021

Item	Pay Code	Description Q	Quantity	itity Unit –	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
1	20200100	EARTH EXCAVATION	198.0	CU YD	\$75.00	\$14,850.00	\$45.00	\$63.75	\$54.38
2	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	78.0	UNIT	\$150.00	\$11,700.00	\$274.00	\$440.00	\$357.00
3	20800150	TRENCH BACKFILL	19.0	CU YD	\$40.00	\$760.00	\$60.00	\$76.11	\$68.06
4	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	434.0	SQ YD	\$3.00	\$1,302.00	\$0.75	\$1.00	\$0.88
5	21400100	GRADING AND SHAPING DITCHES	40.0	FOOT	\$25.00	\$1,000.00	\$60.00	\$83.00	\$71.50
6	30300112	AGGREGATE SUBGRADE IMPROVEMENT, 12"	290.0	SQ YD	\$30.00	\$8,700.00	\$23.20	\$31.50	\$27.35
7	35101400	AGGREGATE BASE COURSE, TYPE B	162.0	TON	\$30.00	\$4,860.00	\$22.00	\$22.00	\$22.00
8	40600275	BITUMINOUS MATERIALS (PRIME COAT)	1,076.0	POUND	\$0.01	\$10.76	\$0.01	\$0.01	\$0.01
9	40600290	BITUMINOUS MATERIALS (TACK COAT)	27,078.0	POUND	\$0.01	\$270.78	\$0.01	\$0.01	\$0.01
10	дивидин	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	5.0	TON	\$1,000.00	\$5,000.00	\$400.00	\$790.00	\$595.00
11	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	2,520.0	SQ YD	\$10.00	\$25,200.00	\$5.00	\$8.00	\$6.50
12	40600990	TEMPORARY RAMP	517.0	SQ YD	\$25.00	\$12,925.00	\$5.00	\$22.50	\$13.75



Project: 21st Street Resurfacing **Section:** 19-00999-68-RS

Item	Day Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
13	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	1,015.0	TON	\$75.00	\$76,125.00	\$68.25	\$70.00	\$69.13
14	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	1,701.0	TON	\$100.00	\$170,100.00	\$91.90	\$96.50	\$94.20
15	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	4,134.0	TON	\$75.00	\$310,050.00	\$73.00	\$74.60	\$73.80
16	42001300	PROTECTIVE COAT	780.0	SQ YD	\$1.00	\$780.00	\$2.50	\$2.50	\$2.50
17	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	4,929.0	SQ FT	\$10.00	\$49,290.00	\$8.50	\$8.50	\$8.50
18	42400800	DETECTABLE WARNINGS	604.0	SQ FT	\$40.00	\$24,160.00	\$65.00	\$65.00	\$65.00
19	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	13,910.0	SQ YD	\$2.50	\$34,775.00	\$1.75	\$1.85	\$1.80
20	44000158	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/4"	21,050.0	SQ YD	\$3.00	\$63,150.00	\$2.15	\$2.80	\$2.48
21	44000500	COMBINATION CURB AND GUTTER REMOVAL	696.0	FOOT	\$11.00	\$7,656.00	\$5.00	\$5.00	\$5.00
22	44000600	SIDEWALK REMOVAL	4,096.0	SQ FT	\$3.00	\$12,288.00	\$1.50	\$1.50	\$1.50
23	44201681	CLASS D PATCHES, TYPE I, 3 INCH	73.0	SQ YD	\$40.00	\$2,920.00	\$20.00	\$66.00	\$43.00
24	44201682	CLASS D PATCHES, TYPE II, 3 INCH	109.0	SQ YD	\$40.00	\$4,360.00	\$20.00	\$42.00	\$31.00
25	44201683	CLASS D PATCHES, TYPE III, 3 INCH	327.0	SQ YD	\$40.00	\$13,080.00	\$20.00	\$29.00	\$24.50



Project: 21st Street Resurfacing

Section: 19-00999-68-RS

Description: Resurfacing

CPMS Pin: B-01548A

Let Date: 5/11/2021

		0/11/2021							
Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	1 dy Code	Description	Quantity	Ome	Unit Price	Extnd. Price	Price	Price	Price
26	44201684	CLASS D PATCHES, TYPE IV, 3 INCH	218.0	SQ YD	\$40.00	\$8,720.00	\$20.00	\$23.00	\$21.50
27	44201737	CLASS D PATCHES, TYPE I, 8 INCH	102.0	SQ YD	\$60.00	\$6,120.00	\$35.00	\$88.00	\$61.50
28	44201741	CLASS D PATCHES, TYPE II, 8 INCH	153.0	SQ YD	\$60.00	\$9,180.00	\$35.00	\$64.00	\$49.50
29	44201745	CLASS D PATCHES, TYPE III, 8 INCH	532.0	SQ YD	\$60.00	\$31,920.00	\$35.00	\$53.00	\$44.00
30	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	306.0	SQ YD	\$60.00	\$18,360.00	\$35.00	\$47.00	\$41.00
31	48101200	AGGREGATE SHOULDERS, TYPE B	321.0	TON	\$40.00	\$12,840.00	\$48.00	\$51.35	\$49.68
32	50105220	PIPE CULVERT REMOVAL	247.0	FOOT	\$20.00	\$4,940.00	\$15.73	\$16.00	\$15.87
33	6/17/13663	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 18"	3.0	EACH	\$1,500.00	\$4,500.00	\$1,700.00	\$2,787.25	\$2,243.63
34	54262712	METAL FLARED END SECTIONS 12"	2.0	EACH	\$500.00	\$1,000.00	\$230.00	\$535.00	\$382.50
35	54262715	METAL FLARED END SECTIONS 15"	14.0	EACH	\$500.00	\$7,000.00	\$230.00	\$535.00	\$382.50
36	542D0217	PIPE CULVERTS, CLASS D, TYPE 1 12"	28.0	FOOT	\$60.00	\$1,680.00	\$47.00	\$108.40	\$77.70
37	542D0220	PIPE CULVERTS, CLASS D, TYPE 1 15"	219.0	FOOT	\$65.00	\$14,235.00	\$48.00	\$125.70	\$86.85
38	60100905	PIPE DRAINS 4"	200.0	FOOT	\$30.00	\$6,000.00	\$6.00	\$10.00	\$8.00
39	60100915	PIPE DRAINS 6"	200.0	FOOT	\$40.00	\$8,000.00	\$9.00	\$12.00	\$10.50
40	60300105	FRAMES AND GRATES TO BE ADJUSTED	9.0	EACH	\$500.00	\$4,500.00	\$455.00	\$675.00	\$565.00



Project: 21st Street Resurfacing **Section:** 19-00999-68-RS

Item	Day Code	Description Q	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
41	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	696.0	FOOT	\$45.00	\$31,320.00	\$60.00	\$60.00	\$60.00
42	66900200	NON-SPECIAL WASTE DISPOSAL	22.0	CU YD	\$125.00	\$2,750.00	\$65.00	\$91.00	\$78.00
43	66900210	HAZARDOUS WASTE DISPOSAL	6.0	CU YD	\$500.00	\$3,000.00	\$250.00	\$1,245.00	\$747.50
44	66900530	SOIL DISPOSAL ANALYSIS	6.0	EACH	\$1,500.00	\$9,000.00	\$1,290.00	\$1,500.00	\$1,395.00
45	66901001	REGULATED SUBSTANCES PRE- CONSTRUCTION PLAN	1.0	L SUM	\$2,500.00	\$2,500.00	\$2,500.00	\$3,500.00	\$3,000.00
46	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$2,000.00	\$2,000.00	\$2,200.00	\$3,500.00	\$2,850.00
47	66901006	REGULATED SUBSTANCES MONITORING	3.0	CAL DA	\$800.00	\$2,400.00	\$100.00	\$1,000.00	\$550.00
48	67100100	MOBILIZATION	1.0	L SUM	\$50,000.00	\$50,000.00	\$29,377.00	\$110,000.00	\$69,688.50
49	70300100	SHORT-TERM PAVEMENT MARKING	10,405.0	FOOT	\$0.25	\$2,601.25	\$0.01	\$0.01	\$0.01
50	70300210	TEMPORARY PAVEMENT MARKING - LETTERS AND SYMBOLS	283.0	SQ FT	\$0.10	\$28.30	\$0.01	\$0.01	\$0.01
51	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	19,948.0	FOOT	\$0.05	\$997.40	\$0.01	\$0.01	\$0.01
52	70300240	TEMPORARY PAVEMENT MARKING - LINE 6"	692.0	FOOT	\$0.15	\$103.80	\$0.01	\$0.01	\$0.01



Project: 21st Street Resurfacing **Section:** 19-00999-68-RS

Item	Day Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
53	70300250	TEMPORARY PAVEMENT MARKING - LINE 8"	4,482.0	FOOT	\$0.20	\$896.40	\$0.01	\$0.01	\$0.01
54	70300280	TEMPORARY PAVEMENT MARKING - LINE 24"	186.0	FOOT	\$0.25	\$46.50	\$0.01	\$0.01	\$0.01
55	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	5,202.0	FOOT	\$1.00	\$5,202.00	\$0.01	\$0.01	\$0.01
56	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	551.0	SQ FT	\$4.00	\$2,204.00	\$4.00	\$4.00	\$4.00
57	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	22,023.0	FOOT	\$0.50	\$11,011.50	\$0.55	\$0.55	\$0.55
58	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	16,270.0	FOOT	\$0.75	\$12,202.50	\$0.65	\$0.65	\$0.65
59	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	948.0	FOOT	\$1.25	\$1,185.00	\$0.75	\$0.75	\$0.75
60	78000500	THERMOPLASTIC PAVEMENT MARKING - LINE 8"	4,951.0	FOOT	\$1.25	\$6,188.75	\$1.00	\$1.00	\$1.00
61	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	2,791.0	FOOT	\$2.50	\$6,977.50	\$1.50	\$1.50	\$1.50
62	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	302.0	FOOT	\$5.00	\$1,510.00	\$4.00	\$4.00	\$4.00
63	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	480.0	FOOT	\$3.00	\$1,440.00	\$3.00	\$3.00	\$3.00



Project: 21st Street Resurfacing **Section:** 19-00999-68-RS

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
					Unit Price	Extnd. Price	Price	Price	Price
64	78300202	PAVEMENT MARKING REMOVAL – WATER BLASTING	582.0	SQ FT	\$6.00	\$3,492.00	\$4.50	\$4.50	\$4.50
65	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$375.00	\$1,875.00	\$10.00	\$200.00	\$105.00
66	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	16,396.0	UNIT	\$1.00	\$16,396.00	\$1.00	\$1.00	\$1.00
67	LC400100	BUTT JOINT FOR ENTRANCE RESURFACING	860.0	FOOT	\$5.00	\$4,300.00	\$8.00	\$16.00	\$12.00
68	LC400202	SEAL COAT	396.0	SQ YD	\$12.00	\$4,752.00	\$6.00	\$10.00	\$8.00
69	LC800850	REMOVE TRAFFIC COUNTER	1.0	EACH	\$500.00	\$500.00	\$4,950.00	\$4,950.00	\$4,950.00
70	X0327036	BIKE PATH REMOVAL	190.0	SQ YD	\$20.00	\$3,800.00	\$15.00	\$15.00	\$15.00
71	X0327890	DRIVEWAY REMOVAL AND REPLACEMENT	663.0	SQ YD	\$45.00	\$29,835.00	\$37.00	\$50.25	\$43.63
72	X0358300	REMOVE AND RELAY END SECTIONS	1.0	EACH	\$1,000.00	\$1,000.00	\$900.00	\$2,270.00	\$1,585.00
73	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	98.0	SQ YD	\$5.00	\$490.00	\$3.00	\$8.84	\$5.92
74	X5010523	REMOVE CONCRETE END SECTION	3.0	EACH	\$300.00	\$900.00	\$431.67	\$900.00	\$665.84
75	X5420615	PIPE CULVERTS TO BE CLEANED 15"	606.0	FOOT	\$15.00	\$9,090.00	\$6.00	\$8.00	\$7.00
76	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	4.0	EACH	\$675.00	\$2,700.00	\$1,350.00	\$1,600.00	\$1,475.00



Project: 21st Street Resurfacing **Section:** 19-00999-68-RS

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
				Onit	Unit Price	Extnd. Price	Price	Price	Price
77	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	5.0	CAL MO	\$4,000.00	\$20,000.00	\$1,000.00	\$2,000.00	\$1,500.00
78	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$50,000.00	\$50,000.00	\$13,500.00	\$21,736.00	\$17,618.00
79	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	594.0	SQ FT	\$3.50	\$2,079.00	\$2.00	\$2.00	\$2.00
80	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	21,509.0	FOOT	\$0.50	\$10,754.50	\$0.30	\$0.30	\$0.30
81	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	15,985.0	FOOT	\$0.50	\$7,992.50	\$0.45	\$0.45	\$0.45
82	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	813.0	FOOT	\$1.00	\$813.00	\$0.60	\$0.60	\$0.60
83	X /830076	GROOVING FOR RECESSED PAVEMENT MARKING 9"	4,951.0	FOOT	\$1.50	\$7,426.50	\$0.65	\$0.65	\$0.65
84	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	2,050.0	FOOT	\$1.75	\$3,587.50	\$1.00	\$1.00	\$1.00
85	X7830090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	164.0	FOOT	\$2.50	\$410.00	\$2.00	\$2.00	\$2.00
86	XX000856	MAILBOX REMOVAL AND RELOCATION	44.0	EACH	\$225.00	\$9,900.00	\$100.00	\$100.00	\$100.00
87	XX006343	SEEDING (COMPLETE)	4,099.0	SQ YD	\$20.00	\$81,980.00	\$5.75	\$5.75	\$5.75



Project: 21st Street Resurfacing

Section: 19-00999-68-RS

Description: Resurfacing

CPMS Pin: B-01548A

Let Date: 5/11/2021

Item No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
					Unit Price	Extnd. Price	Price	Price	Price
88	X X (1) (1) X (1)	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	5.0	EACH	\$500.00	\$2,500.00	\$545.00	\$650.00	\$597.50
89	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	1,734.0	SQ YD	\$1.50	\$2,601.00	\$0.01	\$2.70	\$1.36
90	XX206400	MAILBOX POST	44.0	EACH	\$225.00	\$9,900.00	\$50.00	\$100.00	\$75.00
91	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$30,000.00	\$30,000.00	\$9,995.00	\$9,995.00	\$9,995.00
92	Z0033700	LONGITUDINAL JOINT SEALANT	20,134.0	FOOT	\$2.50	\$50,335.00	\$2.07	\$2.25	\$2.16
		Bid Total				\$1,519,281.44			